
Dear Family,

During the next few weeks, our math
class will be learning strategies for
finding multiples, determining even
or odd numbers, finding unknown
numbers, and solving two-step
multiplication and division problems.

You can expect to see homework that
provides practice with strategies for
multiplying and dividing. 

Kindly refer to the first six pages of
the homework for definitions, rules,
and examples related to multiples
and divisibility.

Vocabulary 

Expression: A part of an
equation that has numbers
and operation signs but
does not have an equal sign.

Divisible: A number is
divisible if the number is a
counting number and can
be evenly divided. 

Multiple:  When you
multiply a number by a
whole number, you get a
multiple of that first
number.

Homework due date: Sunday, Feb. 2nd (Upload HW on Archie)
Chapter 9 Test: Monday, Jan. 27th 

Feel free to contact me with any questions at
diana.charaf@archimedean.org

Chapter 10: Apply Multiplication and Division

Complete homework daily based on the schedule provided
below:

Monday 01/27                          pages: 457, 458
     Tuesday 01/28                     pages: 463, 464 
      Wednesday 01/29              pages: 469, 470  

   Thursday 01/30                   pages: 475, 476
       Friday 01/31                      pages: 481, 482
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What are multiples?
When you multiply a number by a whole number, you get a multiple of that first
number.

For example, start with 3. If you multiply 3 by 4, you get 12. So, 12 is a multiple of 3.

The number 3 has many multiples. Let's find the first few.

So, the first few multiples of 3 are 3, 6, 9, 12, and 15!

Tips
1. Every whole number is a multiple of its factors. For example:

3 is a factor of 6

6 is a multiple of 3

2. When you start at a number and skip-count by that number, you are saying its
multiples! Try it with 5. These are all multiples of 5:

5, 10, 15, 20, 25, ...

3 × 1 = 3
3 × 2 = 6
3 × 3 = 9
3 × 4 = 12
3 × 5 = 15
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What is divisibility?
If you can divide two numbers without a remainder, then the first number is divisible
by the second.

For example, 12 is divisible by 2.

But 12 is not divisible by 5. When you divide 12 by 5, you get a remainder.

R2

Divisibility rules
Divisibility rules can help you easily decide if a number is divisible by another number.
This table shows some common divisibility rules.

12 ÷ 2 = 6

12 ÷ 5 = 2

Tip

A number will always be divisible by its factors. Since 2 is a factor of 12, we know
12 is divisible by 2.
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Try it! See the examples below.

Divisibility by 2

A number is divisible by 2 if its ones digit is 0, 2, 4, 6, or 8.

Is 346 divisible by 2?

• The ones digit in 346 is 6.

• So, 346 is divisible by 2.

Is 223 divisible by 2?

• The ones digit in 223 is 3.

• So, 223 is not divisible by 2.

Divisibility by 3

A number is divisible by 3 if the sum of its digits is divisible by 3.

Is 324 divisible by 3?

• Add the digits.

• Since 9 is divisible by 3, we know 324 is divisible by 3.

2 A number is divisible by 2 if its ones digit is 0, 2, 4, 6, or 8.

3 A number is divisible by 3 if the sum of its digits is divisible by 3.

4
A number is divisible by 4 if the number formed by its last 2 digits is divisible by
4.

5 A number is divisible by 5 if its ones digit is 0 or 5.

6 A number is divisible by 6 if it is divisible by both 2 and 3.

8
A number is divisible by 8 if the number formed by its last 3 digits is divisible by
8.

9 A number is divisible by 9 if the sum of its digits is divisible by 9.

10 A number is divisible by 10 if its ones digit is 0.

3 + 2 + 4 = 9
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Is 412 divisible by 3?

• Add the digits.

• Since 7 is not divisible by 3, we know 412 is not divisible by 3.

Divisibility by 4

A number is divisible by 4 if the number formed by its last 2 digits is divisible by 4.

Is 536 divisible by 4?

• The last 2 digits of 536 form the number 36.

• Since 36 is divisible by 4, we know 536 is divisible by 4.

Is 247 divisible by 4?

• The last 2 digits of 247 form the number 47.

• Since 47 is not divisible by 4, we know 247 is not divisible by 4.

Divisibility by 5

A number is divisible by 5 if its ones digit is 0 or 5.

Is 635 divisible by 5?

• The ones digit in 635 is 5.

• So, 635 is divisible by 5.

Is 513 divisible by 5?

• The ones digit in 513 is 3.

• So, 513 is not divisible by 5.

Divisibility by 6

A number is divisible by 6 if it is divisible by both 2 and 3.

Is 348 divisible by 6?

4 + 1 + 2 = 7
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• 348 is even, so it is divisible by 2.

• Add the digits. Since , it is divisible by 3.

• Since 348 is divisible by both 2 and 3, it is also divisible by 6.

Is 212 divisible by 6?

• 212 is even, so it is divisible by 2.

• Add the digits. Since , it is not divisible by 3.

• So, 212 is not divisible by 6.

Divisibility by 8

A number is divisible by 8 if the number formed by its last 3 digits is divisible by 8.

Is 1,016 divisible by 8?

• The last 3 digits form the number 016, or 16.

• 16 is divisible by 8, so is divisible by 8.

Is 1,231 divisible by 8?

• The last 3 digits form the number 231.

• 231 is not divisible by 8, so is not divisible by 8.

Divisibility by 9

A number is divisible by 9 if the sum of its digits is divisible by 9.

Is 675 divisible by 9?

• Add the digits.

• 18 is divisible by 9, so 675 is divisible by 9.

Is 364 divisible by 9?

• Add the digits.

• 13 is not divisible by 9, so 364 is not divisible by 9.

3 + 4 + 8 = 15

2 + 1 + 2 = 5

1,016

1,231

6 + 7 + 5 = 18

3 + 6 + 4 = 13
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Divisibility by 10

A number is divisible by 10 if its ones digit is 0.

Is 420 divisible by 10?

• The ones digit in 420 is 0.

• So, 420 is divisible by 10.

Is 317 divisible by 10?

• The ones digit in 317 is 7.

• So, 317 is not divisible by 10.

Go to IXL to try some practice problems!

Visit IXL for more related skills and lessons!

Skills

Divisibility rules UTK

Divisibility rules for 2, 5, and 10 V6H

Divisibility rules for 3, 6, and 9 VEV

Divisibility rules for 4 and 8 D82

Lessons

Factors

Multiples

Divisibility rules UTK
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347� � Eknqhc‘&r�A-D-R-S-�Fn�L‘sg � @bbdkdq‘sdc�Fq‘cd�2

Rohq‘k�Qduhdv�

Ehkk�hm�sgd�ataakd�bnlokdsdkx�sn�rgnv�xntq�‘mrvdq-

0/-� Dk‘�rdkkr�4�anwdr�ne�fqddshmf�b‘qcr-�R‘l�
rdkkr�2�shldr�‘r�l‘mx�anwdr�‘r�Dk‘-�Vghbg�
dwoqdrrhnm�qdoqdrdmsr�sgd�mtladq�ne�anwdr�
sg‘s�R‘l�rdkkr�bnlo‘qdc�sn�Dk‘>�

@ � 4�=�4�=�4�

A � 4�×�2

B � 4�+�2�

C � �2�=�4�

00-� J‘hskhm�bnkkdbsr�5�ansskd�b‘or�enq�‘�oqhyd-�
Ihm�bnkkdbsr�3�shldr�‘r�l‘mx�ansskd�b‘or�
‘r�J‘hskhm-�Vghbg�dwoqdrrhnm�qdoqdrdmsr�
sgd�mtladq�ne�ansskd�b‘or�sg‘s�Ihm�bnkkdbsr�
bnlo‘qdc�sn�J‘hskhm>

@ � 5�×�3

A � 5�=�5�=�5�=�5

B � �3�=�5�

C � 3�=�3�=�3�=�3�=�3�=�3

01-� E‘qq‘g�g‘r�07�bq‘xnmr-�Ingm&r�bq‘xnmr��
b‘m�ad�qdoqdrdmsdc�ax�1�=�07-�Vghbg�
bnlo‘qhrnm�rs‘sdldms�cdrbqhadr�sgd�
dwoqdrrhnm>

@ � 07�lnqd�sg‘m�1

A � 1�shldr�‘r�l‘mx�‘r�07�

B � 1�lnqd�sg‘m�07

C � 1�edvdq�sg‘m�07

02-� Itrshm�vqhsdr�sgd�ltkshokhb‘shnm�dwoqdrrhnm�
2�=�8-�Vghbg�bnlo‘qhrnm�rs‘sdldms�
cdrbqhadr�sgd�dwoqdrrhnm�sg‘s�Itrshm�vqnsd>

@ � 2�lnqd�sg‘m�8

A � 8�lnqd�sg‘m�2

B � 2�shldr�‘r�l‘mx�‘r�8�

C � 2�edvdq�sg‘m�8

03-� Cnmsd�g‘r�2�l‘sg�annjr�‘mc�4�rbhdmbd�
annjr-�Q‘lx‘�g‘r�3�lnqd�annjr�sg‘m�
Cnmsd-�Gnv�l‘mx�annjr�cndr�Q‘lx‘�
g‘ud>

� @ � �01� B � 3

A � 7 C � 1

04-� @�rbhdmshrs�bnkkdbsdc�c‘s‘�nm�q‘hme‘kk�enq�
37�lnmsgr-�Enq�gnv�l‘mx�xd‘qr�chc�rgd�
bnkkdbs�sgd�c‘s‘>

@ � 01 B � 2

� A � 3� C � 1

Kdrrnm�Bgdbj�
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353� � Eknqhc‘&r�A-D-R-S-�Fn�L‘sg � @bbdkdq‘sdc�Fq‘cd�2

Rohq‘k�Qduhdv�

Kdrrnm�Bgdbj�

7-� Vg‘s�hr�sgd�ehesg�sdql�hm�sgd�o‘ssdqm> 8-� Vg‘s�mtladq�bnlokdsdr�sghr�s‘akd>

SWakdr 0 1 2 3 4

BgWhqr 4 0/ 04 1/ ●

:tssdqekhdr 2 3 4 5 6

Vhmfr 01 05 1/ ● 17

0/-� Idmmhkdd�atxr�6�o‘bjr�ne�bq‘xnmr-�Sgdqd�‘qd�
5�bq‘xnmr�hm�d‘bg�o‘bj-�Gnv�l‘mx�bq‘xnmr�
cndr�Idmmhkdd�atx>

00-� L‘udqhbj�g‘r�00�annjr�ne�bhqbtr�shbjdsr-�D‘bg�
annj�g‘r�4�shbjdsr-�Gnv�l‘mx�shbjdsr�cndr�
L‘udqhbj�g‘ud>�

01-� A‘hkdx�v‘kjdc�ghr�cnf�1�shldr�d‘bg�c‘x�enq�
8�c‘xr-�Gnv�l‘mx�shldr�chc�A‘hkdx�v‘kj�ghr�
cnf>

02-� Cqdv&r�Sqdd�Bnlo‘mx�cdkhudqr�od‘q�sqddr�
hm�fqntor�ne�3-�Xdrsdqc‘x+�sgd�bnlo‘mx�
cdkhudqdc�7�fqntor�ne�od‘q�sqddr-�Gnv�l‘mx�
od‘q�sqddr�vdqd�cdkhudqdc>
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36/� � Eknqhc‘&r�A-D-R-S-�Fn�L‘sg � @bbdkdq‘sdc�Fq‘cd�2

Kdrrnm�Bgdbj�

Rohq‘k�Qduhdv�

�03-� � �04-�

�05-� � �06-� ���

Dhmc�sgd�rtl,

Dhmc�sgd�cheedqdmbd,

�� 3 214��� ��
×� 0 873

�
99
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�

� �� 1 8,6������
×� 5 327
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99
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�� 6 ,,3������
+� 5 817
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��� 4 605��� ��
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Dhkk�hm�sgd�ataakd�bnlokdsdkx�sn�rgnv�xntq�Wmrvdq,

�0/-� Vghbg�mtladq�hr�‘�ltkshokd�ne�6>

@ � 06 A � 13 B � 25 C � 38

�00-� Vghbg�mtladq�hr�mns�‘�ltkshokd�ne�01>

@ � 37 A � 85 B � 010 C � 033

�01-� Vghbg�ne�sgd�enkknvhmf�‘qd�ltkshokdr�ne�1>

@ � 7
A � 03

B � 18
C � 27

D � 44

�02-� @�snx�qnans�qdpthqdr�3�a‘ssdqhdr-�Gnv�l‘mx�a‘ssdqhdr�‘qd�mddcdc�enq�0�sn�4�qnansr>

� �
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05-� Vg‘s�hr�sgd�tmjmnvm�mtladq>

a�=�6� �45

06-� Vg‘s�hr�sgd�tmjmnvm�mtladq�rgnvm��
ax�sghr�‘qq‘x>

2�=�●� �13

�07-� Sgd�dpt‘shnm�3�=�5� �5�=�3�hr�‘m�dw‘lokd�ne�
vg‘s�oqnodqsx>

� �

� �

� �

�08-� Ehmc�sgd�oqnctbs-�

4�=�’3�=�1(

� �

� �

� �

1/-� Sgd�dpt‘shnm 3�=�6� �’3�=�2(�×��
’3�=�3(�hr�‘m�dw‘lokd�ne�vg‘s�oqnodqsx>

10-� Hm�‘�fqnto�ne�0/�bghkcqdm+�d‘bg�bghkc�g‘c�
1◊g‘sr-�Gnv�l‘mx�g‘sr�chc�sgdx�g‘ud>�


